» O 0 O 935,700
> O 382,580 935,700 O 1,318,280
O 4,770,000 A O 3,834,300
0A 3,770,000 A
1,000,000
4,770,000
XXX
382,580 A
174 1
18 3 31
L - —
64 117 33 2 20000 __— 220,000 0
——
s — 730,900 — 730,900
5 220,000 730,900 0 0 220,000 730,900
5 - —
64 117 33 7 3000 _— 31,000 0
8 45 45 0
o —
o 56,600 - — 56,600] |
1 31,000 56,645 0 0 31,045 56,600
12 _—
64 117 33 13 79400 _— 79,400 0
“
s 148200 _— 148,200
16 79,400 148,200 0 0 79,400 148,200
17
6 4 1 17 31 18 50,000 50,000 0
19
20 0 50,000 0 0 50,000 0
21
22
23 200,000 200,000 0
24 30,000 30,000 0
25
26
27
28
29 2135 2135 0
30
31 37
32 38
33 39
34 40
35 4
36 42




—_=

O 0 2 O 503,600
O 1,667,300 > 731,600 503,600 O 1,235,200
O 4,770,000 R O 3,834,300
O 6,667,700 O 6,164,100
0 4,770,000
1,897,700
6,667,700
XXX
1,667,300
184 1
19 3 31
L P——
e 2 730900 __— 730,900 0
3 365,400 365,400 0
4 — 34900 _— 394,900
5 730,900 760,300 0 0 1,096,300 394,900
. P——
74 1183 3 7 56600 _— 56,600 0
8 1,000 1,000 0
° s 28,300 28,300 0
o 2930 _— 29,300
11 56,600 58,600 0 0 85,900 29,300 —
12 —
17 4 118 3 31 13 148,200/ 148,200 0
4 74,100 74,100 0
15 79400 _— 79,400
16 148,200 153,500 0 0 222,300 79,400
17
17 4 1 18 3 31 18 166,600 166,600 0
19 83,200 83,200 0
20 0 249,800 0 0 249,800 0
21
22
23 210,000 210,000 0
24 30,500 30,500 0
25
26
27
28
29 13,000 13,000 0
30
31 37
32 38
33 39
34 40
35 41
36 42




O ____503600] 2 O 503,600
O 2,170,900 :———» 1,235,200 O 1,235,200
Ol T __aT0000] O 3,834,300
O 6,164,100 O 6,164,100
B
503,600 4,770,000
1,394,100
6,164,100
XXX
2,170,900
184 1
19 3 31
1
P 2 730,900 730,900 0
3 365,400 365,400 0
4 394900 _— 394,900
5 730,900 760,300 0 0 1,096,300 394,900
. S
17 1
8 3 a 7 56600 __— 56,600 0
8 1,000 1,000 0
s 28,300 28,300 0
o 2930 _— 29,300
11 56,600 58,600 0 0 85,900 20,300
12 —
17 1
8 3 a1 13 148200 _— 148,200 0
“w 74,100 74,100 0
5 79400 _— 79,400
16 148,200 153,500 0 0 222,300 79,400
17
17 1
B 3o 18 166,600 166,600 0
19 83,200 83,200 0
20 0 249,800 0 0 249,800 0
21
22
23 210,000 210,000 0
24 30,500 30,500 0
25
26
27
28
29 13,000 13,000 0
30
31 37
32 503,600 38
33 39
34 503,600 40 0
35 41
36 42 503,600




000

(=}

000

0000

—

0000

935,700

0000






